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T2
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DAMEHABEIANLXNALNH 2 K&
54,000,000
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276,

148,

29,
118,

14,
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22,

253
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91,402
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AN =S
B oy E=NEA
Sl FojoI= X CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
| o 42,120
U =RAXLASHAXNA 149,850 149,850 0
307 gl2tol & 149,850 149,850 0
03 QIZtHNHEB2HHEX 57,000 62,000 A5,000
=0t g3 Motz 2l X
10,000, 000& 10,000
DAMEHAES M2 20 XA
42,000,000 42,000
DALZHA S At2XaE 20 XA
5,000,000& 5,000
11T M SXAISE EX 92,850 87,850 5,000
nNelorz FoielstorsMEsdUs XA
40,000,000& 40,000
nNelorz Hoel2sMe XA 7,000,000& 7,000
NEZEMHIIsZIIUs &I X
1,500, 000& 1,500
NEGHMHAMESEUNS &It N
2,250,000& 2,250
N gsds4 X 2,600,000 2,600
NASIMEaMdootetEHS &0t X2
2,000,000& 2,000
NEIXNMEOHAMSUS &I N
3,000,000& 3,000
NeEgd=sorelMEts &0 A& 6,000,000 6,000
Nelot2 =0t eSS XIE 3,000,000 3,000
NEY =019 & &AL &4 X2
1,000,000 1,000
NalotzE HAAHEONC AtZIWE K&
3,000,000& 3,000
naxgoleyy J1ga &4 X 1,500,000 1,500
NDAIZZOHS HESXMS &It X
2,000,000& 2,000
NEOeIe & &AL &4 X 2,000,000& 2,000
NEOMHAAAINLHHC S FMEZ ALY
7,000,000& 7,000
Ngsyy MzEF s0tel NS X el &K
2,000,000& 2,000
NEEXNMEHAMSUHE &It X
7,000,000& 7,000
ZUAHF=ALESLRNR (BEX) 1,445,725 1,447,675 A 1,950
= 848,865
< 109,494
i 487,366
307 21201 A 1,445,725 1,445,725 0
= 848,865
< 109,494
i 487,366
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2N
X ZH -
L= B

el

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

M

2,539
5,924

308 MHXIHHMS0OIH

MW

42,318
33,855
2,539
5,924

166,

187

N 123,869

0H
“
1]
2
:(_1:
ra
0y
0z
Ja
40

o
:%
o on
10
o]
==
>~
o

42,318,000&

MW

42,318
42,318

33,855
2,539
5,924

166,

187

N 123,869

EURL Y

158,850
111,194
14,297
33,359

158,

850

301 LEIEN S

Mo

158,850
111,194
14,297
33,359

188,

850

158,850, 000&

Mo R

168,850

158,850
111,194
14,297
33,359

168,

850

Mo R

209,128
146,390
18,821
43,917

209,

128

MR

209,128
146,390
18,821
43,917

209,

128

209,128,000&

H A

209,128
209,128

146,390
18,821
43,917

209,

128

A

1,881,971
1,317,379
169,378
395,214

1,881,

432

539

Mo A

1,881,971
1,317,379
169,378
395,214

1,881

432

539

1,881,971,000&

1,881,971
1,881,971

1,881,

432

539




A FUEX L
HE: HAYS=XEA
Sl FojoI= X (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,317,379
& 169,378
= 395,214
ool d e N (BXR) 71,500 90, 306 N 18,806
= 55,000
= 16,500
101 Q124 4| 71,500 90, 306 N 18,806
= 55,000
= 16,500
04 JI2ZtHIZ2 2 NEES 71,500 90, 306 N 18,806
NHEILX XN (2EXNEY) oAHH S
71,500,000 71,500
= 55,000
&< 16,500
Zojolders (MM )L Xl KN (EX) 186,381 255,020 68,639
= 143,370
= 43,011
101 @121 H| 186,381 255,020 68,639
= 143,370
= 43,011
04 JI2ZtHIZ22NEES 186,381 255,020 68,639
NENCIL X2 X (HLH) 2AHH S
186,381,000 186,381
= 143,370
& 43,011
ool ers (Al2HMN) L Xl K2 (EX) 51,207 63,789 N 12,582
= 39,390
= 11,817
101 e1214| 51,207 63,789 N 12,582
= 39,390
o= 11,817
04 JI2ZtHIZ22NEES 51,207 63,789 N 12,582
)OI L X2l K2 (AIZ2ER) 21 AHl S
51,207,000 51,207
= 39,390
= 11,817
ZOHoIEES KA (EX) 1,149,500 1,020,325 129,175
= 804,650
o= 103,455
= 241,395
308 XX SHHSOIH 1,149,500 1,020,325 129,175
= 804,650
o= 103,455
= 241,395
11 BI2SUHUEHEAEAE AN Y| 1,149,500 1,020,325 129,175
NEeIESXH 1,149,500,000& 1,149,500
= 804,650
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SN Fo=NY
HE: HAYS=XEA
Sl FojoI= X (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al E & A 452 1,000 1,000 0
1A Z0Q SAHI X 1,000, 000& 1,000
= 700
o= 90
= 210
LI ZEDEEZ2SI0IASHIL I XK (EX) 1,300 1,300 0
& 390
= 910
301 dEtE M= 1,300 1,300 0
& 390
= 910
01 Al B & A 262 1,300 1,300 0
NEWUDEE250| A S D] & XIHl X
& 1,300,000 1,300
= 390
= 910
ZOHCIEXRDIDINAL (BEX) 4,113 4,113 0
= 3,290
= 823
301 et A =2 4,113 4,113 0
= 3,290
= 823
01 Al B & A 46 2 4,113 4,113 0
NEIE XD X 4,113,000 4,113
= 3,290
= 823
S THEMEBIASTSHAISE(EX) 15,120 11,760 3,360
= 4,536
= 10,584
307 212t0| & 15,120 11,760 3,360
= 4,536
= 10,584
11 A EXAIEE X 15,120 11,760 3,360
NESTHEMNHATESAS 15,120,000 15,120
& 4,536
= 10,584
BTN XA (EX) 177,400 56,536 120,864
= 124,180
& 15,966
= 37,254
308 XX G SO|A 177,400 56,536 120,864
= 124,180
& 15,966
= 37,254
112/ 2S0HUSHE A EAE AT Y| 177,400 56,536 120,864
NFELHESAHH AR 177,400,000 177,400
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46,400

93,700

93,700

85,700

71,200

H3r
Wikd
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45,847
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Off &t 24
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37,254
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16,784
79,925
55,948

mH
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H

7,193
16,784
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55,948

mH
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7,193
16,784
46,600
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SN Fo=NY
HE: HAYS=XEA
el geAY (B9 ®R)
5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
NESASINEZ TN EE 7
100,000 12& 1,200
NE2UASHEXNZAIN2
350,000 *14CH = 12& 58,800
NE2AH2UAISE R E D S| 240,000 »6H 1,440
02 232 H4| 14,500 0 14,500
NUSUSHIIZFRIHl 200,000 «5CH x12& 12,000
Ne22ts 821222l ] 500,000 *5CH 2,500
202 04d| 8,000 0 8,000
01 2L I 8,000 0 8,000
1NS2AH22 AL =& 0| 50,000& 22 *803] 8,000
co=Eisd 60,395,849 57,090,785 3,305,064
= 44,170,870
J| 72,000
o= 3,349,942
= 12,803,037
Lol=X 60,395,849 57,090,785 3,305,064
= 44 170,870
J| 72,000
& 3,349,942
= 12,803,037
Lo=x 25,990 37,530 A 11,540
201 et d| 9,990 21,530 A 11,540
01 AP 2t 2] H| 9,990 20,330 A 10,340
Neol=2x 2= A H 8,000 x4 +x703] 2,240
Neol=X 42 U A22E 2
100,000& 12& 1,200
NIOSEA NA0Y s, E22 HE S
2,000,000& 2,000
NLOIE2X ALY OHLY X M =
200,000 x141 S ™ 2,800
eI S XAIA QI2SIEtAo 2los] HAag
70,000& *5H *53] 1,750
202 o4 | 16,000 16,000 0
01 2L HI 16,000 16,000 0
NeolEx 928 2|
50,000& 42 *803] 16,000
SAHA DAL XA R X =2 5,000 6,000 A 1,000
301 et M= 5,000 6,000 A 1,000
01 Ml EXEE 4562 5,000 6,000 A 1,000
1)2AHDAFLRHE Y X 5,000,000& 5,000
Lo EESEANHAXR(EX) 1,779,550 1,590,720 188,830
= 1,245,680
& 160, 160
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AN =S
By Lo=xEd
chel: Lol=x CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 373,710
308 XXM SO A 1,779,550 1,590,720 188,830
= 1,245,680
< 160, 160
s 373,710
113/ 2SoHUHSZAEEALS I 1,779,550 1,590,720 188,830
NeoltssdssHUIAXR  1,779,550,000& 1,779,550
= 1,245,680
< 160,160
[ia 373,710
SN SSHELBNMEA(BE) 133,780 59,562 74,218
= 66,890
< 20,070
s 46,820
307 21201 A 133,780 59,562 74,218
= 66,890
< 20,070
[ia 46,820
05 RIZt2IEt = 133,780 59,562 74,218
NEHL0 SSUEEE0IMER2Y
133,780, 000& 133,780
= 66,890
< 20,070
[ia 46,820
LoEB0IXNA 66,667 31,980 34,687
201 Let2d] 3,900 3,900 0
01 At 22l 3,900 3,900 0
NeolssMa2e,s2322e¥ S 2N+
e 100,000& *39H 3,900
301 LEPEHZF 62,767 28,080 34,687
01 MEIBEE 053 62,767 28,080 34,687
NeolssMag2el,Ss322e¥ S WEY|
A& 62,767,000 62,767
Lo 2EXNEA 266,050 302,355 A 36,305
307 glz2tol & 266,050 300,255 A 34,205
03 QIAHNHE2IHIEE 100,050 91,255 8,795
Nusteols Aotz s 2LHl X
100,050, 000& 100,050
11T MISXAISEX 166,000 199,000 A 33,000
NZ2Y 2IEAUAY 75,000,000& 75,000
NAET2MY WS4 10,000, 000& 10,000
NSt XSI &I LN ESUS
23,000,000& 23,000
N2 XSEI od =N ESUS
15,000, 000& 15,000
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AN =S
Mo LoI=XEX
¢ LS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NEXAI = HOE=US 5,000,000& 5,000
NEHESHI LAHNEEUE 5,000,000 5,000
NACHZ XS &I Lol Dete322ds X
21,000,000& 21,000
NEXAD Lel0et2=== sl 5,000,000 5,000
NEHESIEI 32U 3,000,000 3,000
Naer2 XS &I I8 XI& 4,000,000 4,000
COSIEHE XA (BEX) 41,158 42,876 N1,718
= 12,347
s 28,811
307 g1+l & 41,158 42,876 N1,718
< 12,347
s 28,811
03 BIAHNHE2IHIEEL 41,158 42,876 N1,718
Neolslgdsti 41,158,000 41,158
< 12,347
s 28,811
JEEYES T2 A2 2 XX (BEX) 29,399 26,750 2,649
< 5,879
s 23,520
307 21201 A 29,399 26,750 2,649
< 5,879
s 23,520
11T MISXASEEX 29,399 26,750 2,649
NIz A Al 22X XX
29,399,000& 29,399
< 5,879
[ia 23,520
Zege=slZz DAl Z2el Xl X 9,500 9,500 0
307 21201 A 9,500 9,500 0
03 BIUHHMEHE2HHIES 9,500 9,500 0
NE2g e Z QA2 22 MU XI K&
9,500,000& 9,500
d2YR2IU SN (EX) 620,620 520,000 100,620
< 124,124
e 496,496
307 glz2+ol & 620,620 520,000 100,620
= 124,124
e 496,496
10 ALSISXAIEEE 22X 620,620 520,000 100,620
NZ2Y 224l A& 620,620,000 620,620
< 124,124
[ia 496,496
Z2Y 2SN 415,000 500,000 285,000
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AN =S
Mo LoI=XEX
¢ LS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 5,000 0 5,000
02 =224l 5,000 0 5,000
NIA2Y XS EER 5,000,000& 5,000
307 glz2tol & 410,000 500,000 A 90,000
10 ALSISEXAIEEE2EHEX 410,000 500,000 290,000
NZ2g 294l € N 120,000, 000& 120,000
NZ2Y 244 X 290,000, 000& 290,000
FRYHUSH A XIHIXE (EX) 886,303 861,100 25,203
=2 221,576
< 199,418
s 465,309
201 Let24E] 22,400 22,400 0
= 5,600
< 5,040
s 11,760
01 At 22l 22,400 22,400 0
NZ22Y L34l (HbHdl) 22,400,000 22,400
= 5,600
< 5,040
i 11,760
307 21201 A 863,903 838,700 25,203
= 215,976
< 194,378
s 453,549
10 M2 SXNANEHE2IHEX 863,903 838,700 25,203
NZ22Y L3l 133,103, 000& 133,103
= 33,276
< 29,948
i 69,879
NZ2Y dutetyl 730,800,000 730,800
= 182,700
< 164,430
[ia 383,670
Z22=23AHE 50,000 50,000 0
405 TtakF S| 50,000 50,000 0
01 AL ESH SH 50,000 50,000 0
nNz2zg 28 g 50,000,000& 50,000
SHEFANEA(BR) 29,000 27,467 1,533
< 8,700
s 20,300
301 LB AF 29,000 27,467 1,533
< 8,700
[ia 20,300
01 Ml2ZE 6= 29,000 27,467 1,533
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
N3N 29,000,000& 29,000
< 8,700
[ia 20,300
SSEALI XA 5,000 15,000 A 10,000
301 LA S 5,000 15,000 A 10,000
01 MEIBEE 253 5,000 15,000 A 10,000
Nag&dd X 5,000,000& 5,000
SEHHNA 130,000 130,000 0
301 LA F 130,000 130,000 0
01 AR 2Z A 53 130,000 130,000 0
N EEASRE 130,000, 000& 130,000
AOH004F=2 2SO EXI& 150,000 100,000 50,000
301 EEMZ 150,000 100,000 50,000
12 J|EBHE &= 150,000 0 150,000
1A 1004 =22 2ot XA
2,000,000& »75H 150,000
I=ASKNA(EX) 46,606,898 43,823,609 2,783,289
= 40,267,708
< 894,838
[ia 5,444,352
301 LeHEBAF 46,606,898 43,823,609 2,783,289
= 40,267,708
< 894,838
[ia 5,444,352
01 Ml28E 6= 46,606,898 43,823,609 2,783,289
NJ=3 46,606,898,000& 46,606,898
= 40,267,708
< 894,838
e 5,444,352
COMNIEBSHA(ER) 3,278,241 2,488,800 789,441
= 2,364,016
= 709,205
fia 205,020
101 1244 dl 3,014,381 2,299,706 714,675
= 2,204,586
< 661,376
s 148,419
03 RIAHAZ 22+ 152,448 155,462 A 3,014
s HYA(DLE) oA
25,662,000& x4H 102,648
= 51,324
= 15,397
e 35,927
NogdlelAmdd 8X8E Hbl(S2A)
100,000& x4H 123 4,800




AN =S
M col=Ed
chel wol= | (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
= 2,400
< 720
2 1,680
NEgoE ZRN Maiy(4y)
11,250,000& 4 H 45,000
04 DIt Z2REE S 2,861,933 2,144,244 717,689
=gl dgolad(J]2hM) 2|
25,662,000& »7H 179,634
= 89.817
< 26,945
2 62,872
NeolAX MRS BXEZ 016 (I2HH)
100,000 x7H x12& 8,400
= 4,200
< 1,260
= 2,940
Neold ety 0 X el
2,673,899,000& 2,673,899
= 2,056,845
< 617,054
201 L2l 263,860 189,094 74,766
= 159,430
< 47,829
s 56,601
01 At 22l 263,860 189,094 74,766
Nl At K& JlErE Sl
261,160,000 261,160
= 158,080
< 47,424
= 55,656
Nl XelAre AIEE JIELE S
2,700,000& 2,700
= 1,350
< 405
e 945
AOHAILIGSE2Z XA (EX) 75,000 250,000 A 175,000
= 75,000
307 izl & 75,000 250,000 A 175,000
= 75,000
10 M SXNANEHI2IHE=X 75,000 250,000 A 175,000
NACGHAILIZE 291 K& 75,000,000& 75,000
< 75,000
ARALSRIANA(EE) 159,810 176,610 A 16,800
| 72,000
[ia 87,810
307 21201 A 159,810 176,610 A 16,800
| 72,000
[ia 87,810
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AN =S
Mo LoI=XEX
chel: Lol=x CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 159,810 176,610 A 16,800
NZzAg g AX 159,810, 000& 159,810
J| 72,000
[ia 87,810
IOt QI AAHE IR (B X) 158,050 163, 130 A5,080
< 35,560
[ia 122,490
307 21201 A 158,050 163, 130 A5,080
< 35,560
e 122,490
11T MISXASEX 158,050 163, 130 A5,080
NMIt=Ql AA Y K& 158,050, 000& 158,050
< 35,560
s 122,490
ZARALURESANE 98,000 128,000 230,000
201 Let249] 18,000 28,000 210,000
01 At 22l 18,000 28,000 A 10,000
Nea34a 29 4= 322 S 5,000,000 5,000
NeasSA 29 28 72¢ 10,000, 000& 10,000
N34 22 AMDE 222 WH
3,000,000& 3,000
307 21201 A 80,000 100,000 220,000
11T MISRASEEX 80,000 100,000 A 20,000
NEZALRSSATI2IH ST
80,000,000& 80,000
=5 olE ey 507,000 593,000 86,000
307 21201 A 493,000 503,000 A 10,000
11T MISAASEX 493,000 503,000 A 10,000
Neoltis T2y 294 X
140,000, 000& 140,000
noltazad X 200,000, 000& 200,000
Neols deMsis XA
35,000,000& =13l 35,000
Noltisr Astyl XI& 98,000, 000& 98,000
NEoltis JlsE2Hl 20,000,000& 20,000
402 RI2EX20l ™ 14,000 90,000 276,000
01 212t 2 AL E = (REMTH ) 14,000 90,000 276,000
Neoltisr xrkelad X 14,000, 000& 14,000
ANLOEEH2I(EX) 5,000 4,000 1,000
< 1,500
s 3,500
307 glz2tol & 5,000 4,000 1,000
< 1,500
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AN =S
By Lo=xEd
chel: Lol=x CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 3,500
11 AISI S XA E = 5,000 4,000 1,000
DAILIG & & 2 5,000,000& 5,000
< 1,500
[ia 3,500
ColdolgEa )| NN (EX) 1,000 3,060 A 2,060
< 300
s 700
301 LPENF 1,000 3,060 22,060
< 300
[ia 700
01 MEIBEE 263 1,000 3,060 A 2,060
Neo Holg8sd )| X3 ALY 1,000, 000& 1,000
= 300
fia 700
LoldolgSE )| X & ALY 100,000 140,000 240,000
301 getEd 3 100,000 140,000 240,000
01 MI2ZE 6= 100,000 140,000 240,000
N B8 BEXX XJAY 200,000 500 100,000
L oloj e AbHI RI & 700,000 730,400 A 30,400
307 glz2tol & 700,000 720,000 A 20,000
11T AISI S XA E = 700,000 720,000 A20,000
Neolo & A XI& 700,000,000& 700,000
A B QI HMASHECI I XA 30,000 30,000 0
301 LEEXF 30,000 30,000 0
01 AL EE E 2563 30,000 30,000 0
NerE s Lol SHEMa 202l NJAY
250,000 x120H 30,000
COQAANLRNE(BE) 1,935,036 982,250 952,786
< 774,014
e 1,161,022
308 XXM S0 A 1,935,036 982,250 952,786
< 774,014
s 1,161,022
N 3JN2SUHUS3AEAE A 1,935,036 982,250 952,786
NaAZ=02=2 4 ALY 23 X
1,935,036, 000& 1,935,036
< 774,014
[ 1,161,022
SESSI2INI(EX) 270,000 220,000 50,000
< 81,000
i 189,000
201 LBH2E | 220,000 220,000 0
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AN =S
Mo LoI=XEX
chel: Lol=x CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 66,000
s 154,000
02 23224l 220,000 220,000 0
NszE ZSSEF2ZXE 220,000,000 220,000
< 66,000
[ia 154,000
401 AIEHI L 20HYI 50,000 0 50,000
= 15,000
s 35,000
01 A& HI 50,000 0 50,000
NsHE 35ssd WESXA  50,000,0008 50,000
< 15,000
e 35,000
SESEEE2INE 276,840 389,040 A 112,200
201 ¢er24] 263,840 371,040 A 107,200
01 At 22l 43,840 68,840 A25,000
NFEAANES =2 018X 018 W
2003 «B00H =24 0H 3,840
NEESSSE 228572 XA 40,000,000& 40,000
02 2324l 220,000 302,200 A 82,200
NBESSE A2 XI& 220,000,000 220,000
301 LEd = 13,000 18,000 A5,000
01 MI2EZE 06z 13,000 18,000 A5,000
NHAANE == 018 XN 13,000, 000& 13,000
OTESSH-AHAAM B MHIA(EBR) 8,100 4,100 4,000
< 2,430
e 5,670
307 glz2+ol & 8,100 4,100 4,000
< 2,430
s 5,670
05 RIZt2E = 8,100 4,100 4,000
NITEE SAHL AL ML NH AAY
8,100,000 8,100
< 2,430
e 5,670
DSAXNZOISHX AL (BEX) 41,760 18,560 23,200
< 12,528
i 29,232
301 LEEXZ 41,760 18,560 23,200
< 12,528
s 29,232
01 MEI2EZE+05l= 41,760 18,560 23,200
NIOSAMXZ0ISX A 41,760,000& 41,760
< 12,528
[ia 29,232
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A FUEX L
By Lo=xEd
el L ol=27X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
MOt EXALRNKA(BEX) 1,156,846 992,367 164,479
== 231,369
= 925,477
308 XAHXIEHSOIA 1,156,846 992,367 164,479
o= 231,369
= 925,477
1122 SUHUSHEAEAE A Y| 1,156,846 992,367 164,479
NIt 2202 2220 22 X
2 1,156,846,000& 1,156,846
& 231,369
= 925,477
LOQUAANE2IG X 220,503 828,019 A 607,516
201 et d| 3,000 14,500 A 11,500
02 E22%H| 3,000 6,500 A 3,500
NECIQUANE AXSEHHAEEE S
500,000& *6 4 &~ 3,000
307 212t0| ™ 217,503 813,519 A596,016
10 AISIEXAIEEHE2IHIEX 160,000 783,519 AN 623,519
NECIQUAN 29H| &
16,000, 000& * 1000 & 160,000
11 A EXAIEEX 57,503 30,000 27,503
N22aAH2 XK 1,650, 130& *3H 6 & 29,703
NEIQLAYIZ XY S T2 W]
X & 500,000 *300H 2~ 15,000
1NEQQUAME ALK L ESAL D2LH9 A
A &EIEHH] X & 160, 000 *8H 1004 & 12,800
COIQAALEH B2 10,000 195,000 A 185,000
405 XHA&HF S HI 10,000 195,000 A 185,000
01 AL 2 ZF S| 10,000 195,000 A 185,000
NAXEIRARA XY B 10,000,000 10,000
SINANLAYASEXNR|(EX) 10,000 0 10,000
= 5,000
& 1,500
= 3,500
201 LBt Y| 10,000 0 10,000
= 5,000
& 1,500
= 3,500
01 AP 2t 2] d| 10,000 0 10,000
NEXAIE SASEXNH 10,000,000& 10,000
= 5,000
= 1,500
= 3,500
LOEXNALUASEXNHA 104,748 0 104,748




2N

Foi=x
Hy: Lo=XEX
col=x

©el: ol (er:@e)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 104,748 0 104,748
01 At 22l 104,748 0 104,748
NEQAAL HAESE XA 51,100,000& 51,100
NZ22g L¢I98 N2 53,648,000 53,648
I ZMEEH 7,139,434 6,024,925 1,114,509
= 4,811,954
< 593,501
[ia 1,733,979
SEXTA 7,139,434 6,024,925 1,114,509
= 4,811,954
= 593,501
s 1,733,979
S XA 27,460 27,340 120
201 2et2d]| 7,460 7,340 120
01 At 2teltl 6,560 6,440 120
NAREE FHl 130,000& =122 1,560
NSETA RFE 0H4AHl 8,000& *5H 603 2,400
NEXHAX SESR U I M
4,500& x500HA 2,250
DANYMSSTIAS 50 FHLY
70,000 x5H 13 350
02 2324l 900 900 0
NEXHAX SoAXTAIZN SK REQR2
3003 2505+ 12& 900
202 044l 20,000 20,000 0
01 = LH o4 1l 20,000 20,000 0
NS AIZE 2FX 20 I
50,000& x5 »802] 20,000
I=MEBEHMASHIA(EX) 6,961,992 5,861,792 1,100,200
= 4,689,434
< 586,179
e 1,686,379
301 LBEAZ 6,961,992 5,861,792 1,100,200
= 4,689,434
< 586,179
e 1,686,379
01 MEIBEE 2063 6,961,992 5,861,792 1,100,200
NEAS0 XA 6,961,992,000& 6,961,992
= 4,689,434
< 586,179
s 1,686,379
IZMESHNMEHMIHNA(EE) 73,218 73,218 0
= 58,574
< 7,322
s 7,322
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AN =S
o RO EMBEE
& SEXZA (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
301 LEHZ 73,218 73,218 0
= 58,574
< 7,322
= 7,322
01 A3l EE E 56l = 73,218 73,218 0
NAMENSH XA 73,218,000& 73,218
= 58,574
= 7,322
s 7,322
IZNMESHISSAHX (ST AY) 12,818 11,441 1,377
308 XXM S0l A 12,818 11,441 1,377
08 WEII20HStE X 12,818 11,441 1,377
Nuss0 XA 12,818,000& 12,818
HRYRONA(2X) 63,946 51,134 12,812
= 63,946
301 LENF 63,946 51,134 12,812
= 63,946
01 Al EE X =56l = 63,946 51,134 12,812
NS iyl X2 63,946,000 63,946
= 63,946
SEE 2L XA 1,056,050 1,122,690 A 66,640
< 76,560
s 979,490
ZNRS AN 1,056,050 1,122,690 A 66,640
< 76,560
s 979,490
SSLHAXZ 33,750 70,950 A 37,200
201 Let249] 23,750 22,950 800
01 AR 22| 23,750 22,950 800
NSy s8¢ FH 600,000 * 110 & 6,600
NE8H 88 FH(XNE,YX)
1,000,000 *2H 2~ 2,000
Ngdis s8¢ 3l 2,000,000& 2,000
Nesd 84 Hx88 #¢
700,000 *139H & 9,100
NEEY ZE4A A =AY 3,000,000& 3,000
NEE9 & 49 M 70,000 * 1504 2 1,050
401 A& BIZ 201 8] 10,000 48,000 A 38,000
01 A& HI 10,000 48,000 A 38,000
NEHEEE HES XA 10,000, 000& 10,000
EEIIERZ2 20,500 20,500 0
301 LEAF 20,500 20,500 0
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SN FUSKD
¥ 2)PEHAUN
Eel: NS NN (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 A3l EE & 56l = 20,500 20,500 0
NEEINHS A2 25,000 x820H 20,500
EEHH AR 109,000 105,000 4,000
307 2I2t0l A 109,000 105,000 4,000
03 QIAHMNHE2IHIEE 60,000 56,000 4,000
NAIR A o2yl & 2gHl X (aol=2d3sl)
8,000,000& 8,000
NEEHH AR dXE X 4,000,000& 4,000
NAIRA o124l 2 2gH X2 (d8R=38)
8,000,000 8,000
NDAFR A o2l & 2l N2 (RB+EX3)
8,000,000& 8,000
DAL A o124d] 2 2l X3 (012elsl)
8,000,000 8,000
NAIRA o2l L 29l X (LLH)
8,000,000 8,000
NAFRA 0124H] L 2| X2 (6.256&8HR3
x3l) 8,000,000 8,000
NAIRA ol2H] L 2gH| XN (2LH)
8,000,000 8,000
11 AMISIAIEE S 49,000 49,000 0
NEZZJAEY HESHE L AFMIAIE
21,000,000& 21,000
1)20218 6.250| 9 & A 8,000,000& 8,000
NEENS S0SUHsE 20,000,000& 20,000
RS a=DN IR 816,240 826,240 A 10,000
301 etEd 2 816,240 826,240 A 10,000
01 A EE E 2563 816,240 826,240 A 10,000
NEEFSA o= X
115,400 *300H x 12& 415,440
NEEFSA 0lYe Holg X
70,000 =350 x12& 294,000
NIINEEUHLETT BEE2E
30,0003 x130H x12& 46,800
NEESSI AIL22 K& 200,0009 «504 10,000
N2 X =2A o4HE HedlgE XA
50,000,000& 50,000
FHFSAYMN=LZ(EX) 76,560 0 76,560
= 76,560
301 LBENZ 76,560 0 76,560
< 76,560
01 Al EE H =06l = 76,560 0 76,560
NEMSSA Fo+~< 76,560,000 76,560
< 76,560
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AN =S
B AR (U= D)
chel: Jl= 2| (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
HE2LZH (FUSX) 19,600 18,500 1,100
Jl=&l 19,600 18,500 1,100
Jl=34 19,600 18,500 1,100
101 @124l 1,200 2,000 A 800
03 RIAHA2ZZ2HE > 1,200 2,000 A 800
NS 42X FUHOHl 50,0003 »3H *83l 1,200
201 LB-2dH| 5,200 4,500 700
01 At 22l 5,200 4,500 700
NEASY AtR2t2lHI 200,000 26X 5,200
202 oddl 8,400 7,200 1,200
01 SLHOYI 8,400 7,200 1,200
NEM2Z IO 50, 000& x21% »83| 8,400
203 ¥ S =&l 4,800 4,800 0
04 FENSEHE=LH| 4,800 4,800 0
NAA 300 0lat 400,000& +x12& 4,800
Heegs(=e=Exn) 835,875 780,379 55,496
HEAHHK = 835,875 780,379 55,496
HEHAH X = 835,875 780,379 55,496
701 JIEtSIHEHES 835,875 780,379 55,496
01 JIEtSI AN ES 835,875 780,379 55,496
NAEESAY SE3H 852
835,875,000 835,875
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